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1 = F PN 6800 78 3.0 LT 719
2 Rl IS 300 LLF 18 LL'F 3.0 LT 719
3 At Al JEVRE 750 18 LL'F 3.0LLF 7/9
4 Ry B 300 LR 18 LL'F 3.0LLF 7/9
5 A= F giNl 1100 18 LL'F 3.0 LT 719
6 ZE1 AR 370 18 LL'F 3.0LTF 79
7 ZE1 S 3800 18 LLF 3.0 LLF 719
8 B PN 300 AR 18 LL'F 3.0LLTF 79
9 ST FEA= 300 LA 18 LL'F 3.0 LLF 719
10 | ==K 8 YA 300 LLF 18 LA T 3.0LLF 719
11 (= it 300 LLF 18 LLF 3.0 LT 719
12 AT e 380 18 LLF 3.0 LT 719
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1 =T PN HAAEMELLTY (Rt sind) 6/23
2 Rl I BAEAEELLT (s d) 6/24
3 AbfEiE Al B BAEAEELLT (s d) 719
4 Rl N HAAEMELLTY (s d) 6/24
5 A= F Rl HAAEMELLTY (R sind) 717
6 R it Il BAAEELLT (s d) 717
7 R R BAAEELLT (s d) 719
8 N = N BAEAEELLT (s d) 713
9 ST FHAE 0.3 719
10 —HR RN HAAEMELL T (Rt s d) 779
11 (h¥= TR HAEEELLT (BREashd) 6/16
12 = F £ha BAEAEELLT (s hd) 713
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